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7  878, =4  75<5?L=O5  GG4EF><,  6E>4OM<5  6 7D4=<FO >ED4==OE  7>= 

EGM5EF6GNM<E 747>D4E?D545?<F5?L=OE  E5F5=,  G>474==OE  6  ?G=>F5  1 

=4EF>OM57> ?D<>474.

3. �<=<EF5DEF6G 7D44>EFD><F5?L=>= 45OF5?L=>EF< < D476<F<O 

47?><5D4F<= �<657>D>4E>>= >5?4EF<:

3.1. �4?D46<FL 6 D<?<4? ?G5?<G=>-?D46>6>= >><?4=<< «$>E>444EFD» ?> 

�<657>D>4E>>= >5?4EF< E6545=<O > 7D4=<F4E >ED4==OE 7>= EGM5EF6GNM<E 

747>D4E?D545?<F5?L=OE E5F5=.

3.2. �4?D46<FL >>?<N =4EF>OM57> ?D<>474 6 >D74= <5EF=>7> 

E4<>G?D46?5=<O <G=<F<?4?L=>7> >>DG74 7>D>4 �>D �<657>D>4E>>= >5?4EF<.

3.3. $47<5EF<FL =4EF>OM<= ?D<>47 =4 >D<F<4?L=>< E4=F5 <<=<EF5DEF64 

7D44>EFD><F5?L=>= 45OF5?L=>EF< < D476<F<O 47?><5D4F<= �<657>D>4E>>= 

>5?4EF< 6 <=D>D<4F<>==>-F5?5>><<G=<>4F<>==>= E5F< «�=F5D=5F».
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< D476<F<O 47?><5D4F<=
�<657>D>4E>>= >5?4EF<
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�D4=<FO >ED4==OE 7>= EGM5EF6GNM<E 747>D4E?D545?<F5?L=OE E5F5=, 
D4E?>?>65==OE 6 <G=<F<?4?L=>< >>DG75 7>D>4 �>D �<657>D>4E>>= >5?4EF<

1.  �4<<5=>64=<5 747>D4E?D545?<F5?L=>= E5F<: �47>?D>6>4-66>4 > 6<?><G 

4><G ?> 44D5EG: �<657>D>4E>4O >5?., 7. >. 7. �>D, 4. �>D<=>4, GG. 81� (�-4-
0491�/2022/��/��), =47=4G5=<5: �47>?D>6>4 =<7>>7> 446?5=<O, >444EFD>6O= 

=><5D: 52:20:0700020:759

%6545=<O >5 >ED4==>= 7>=5

7 ?? %4D4>F5D<EF<>< >ED4==>= 

7>=O �?<E4=<5 E4D4>F5D<EF<>

1 2 3

1.
�5EF>?>?>65=<5 >ED4==>= 

7>=O

$>EE<=E>4O $545D4F<O, �<657>D>4E>4O 

>5?., 7. >. 7. �>D, 4. �>D<=>4, GG. 81�

2. �?>M44L >ED4==>= 7>=O, >6.< 370

%6545=<O > <5EF>?>?>65=<< 7D4=<F >ED4==>= 7>=O

1. %<EF5<4 >>>D4<=4F �%� 52, 7>=4 2

2. %6545=<O > E4D4>F5D=OE F>G>4E 7D4=<F >ED4==>= 7>=O

�>>D4<=4FO, <�5>7=4G5=<5 
E4D4>F5D=OE 

F>G5> 7D4=<F X Y

�5F>4 >?D545?5=<O 

>>>D4<=4F < ED54=OO 

>644D4F<G5E>4O 

?>7D5L=>EFL ?>?>65=<O 

E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5 
74>D5??5=<O 

F>G><

1 2 3 4 5

1 539981.91 2226685.53

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

2 539981.44 2226689.01

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

3 539975.76 2226730.79

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-



2

4 539970.54 2226750.12

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

5 539966.34 2226767.62

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

6 539965.54 2226770.85

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

7 539961.65 2226769.88

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

8 539962.05 2226768.30

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

9 539959.59 2226767.25

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

10 539956.56 2226766.22

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

11 539957.85 2226762.43

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

12 539961.03 2226763.51

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

13 539963.01 2226764.36

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

14 539966.66 2226749.14

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

15 539971.84 2226729.99

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

16 539977.48 2226688.47

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

17 539977.94 2226685.00

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

1 539981.91 2226685.53

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

2.  �4<<5=>64=<5 747>D4E?D545?<F5?L=>= E5F<: �47>?D>6>4-66>4 > 6<?><G 

4><G ?> 44D5EG: �<657>D>4E>4O >5?4EFL, 7.>.7. �>D, G?. �D4E=>7>D>4, 4. 18� (�-



3

4-0635�/2022/��/��), =47=4G5=<5: �47>?D>6>4 =<7>>7> 446?5=<O, >444EFD>6O= 

=><5D: 52:19:0201006:505

%6545=<O >5 >ED4==>= 7>=5

7 ?? %4D4>F5D<EF<>< >ED4==>= 

7>=O �?<E4=<5 E4D4>F5D<EF<>

1 2 3

1.
�5EF>?>?>65=<5 >ED4==>= 

7>=O
$>EE<=E>4O $545D4F<O, �<657>D>4E>4O 

>5?4EFL, 7. �>D, G?. �D4E=>7>D>4, 4. 18�
2. �?>M44L >ED4==>= 7>=O, >6.< 201

%6545=<O > <5EF>?>?>65=<< 7D4=<F >ED4==>= 7>=O

1. %<EF5<4 >>>D4<=4F �%� 52, 7>=4 2

2. %6545=<O > E4D4>F5D=OE F>G>4E 7D4=<F >ED4==>= 7>=O

�>>D4<=4FO, <�5>7=4G5=<5 
E4D4>F5D=OE 

F>G5> 7D4=<F X Y

�5F>4 >?D545?5=<O 

>>>D4<=4F < ED54=OO 

>644D4F<G5E>4O 

?>7D5L=>EFL ?>?>65=<O 

E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5 
74>D5??5=<O 

F>G><

1 2 3 4 5

1 536303.00 2217306.39

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

2 536299.23 2217305.05

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

3 536299.93 2217303.09

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

4 536261.01 2217288.60

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

5 536259.13 2217286.72

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

6 536261.96 2217283.89

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

7 536263.22 2217285.16

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-
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8 536305.87 2217301.03

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

9 536304.47 2217304.78

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

10 536303.68 2217304.49

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

1 536303.00 2217306.39

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

3.  �4<<5=>64=<5 747>D4E?D545?<F5?L=>= E5F<: �47>?D>6>4-66>4 > 6<?><G 

4><G ?> 44D5EG: �<657>D>4E>4O >5?4EFL, 7. �>D, 4. �4?<><=> (�4=F4GD>6E><= 

E/E), G?. &5=FD4?L=4O, 4. 36� (�-4-0654�/2022/��/��), =47=4G5=<5: �47>?D>6>4 

=<7>>7> 446?5=<O, >444EFD>6O= =><5D: 52:20:0500006:4184

%6545=<O >5 >ED4==>= 7>=5

7 ?? %4D4>F5D<EF<>< >ED4==>= 

7>=O �?<E4=<5 E4D4>F5D<EF<>

1 2 3

1.
�5EF>?>?>65=<5 >ED4==>= 

7>=O

$>EE<=E>4O $545D4F<O, �<657>D>4E>4O 

>5?., 7. �>D, 4. �4?<><=> 

(�4=F4GD>6E><= E/E), G?. &5=FD4?L=4O, 
4. 36�

2. �?>M44L >ED4==>= 7>=O, >6.< 585

%6545=<O > <5EF>?>?>65=<< 7D4=<F >ED4==>= 7>=O

1. %<EF5<4 >>>D4<=4F �%� 52, 7>=4 2

2. %6545=<O > E4D4>F5D=OE F>G>4E 7D4=<F >ED4==>= 7>=O

�>>D4<=4FO, <�5>7=4G5=<5 
E4D4>F5D=OE 

F>G5> 7D4=<F X Y

�5F>4 >?D545?5=<O 

>>>D4<=4F < ED54=OO 

>644D4F<G5E>4O 

?>7D5L=>EFL ?>?>65=<O 

E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5 
74>D5??5=<O 

F>G><

1 2 3 4 5

1 555171.52 2219217.68

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-
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2 555169.93 2219216.09

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

3 555164.10 2219210.00

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

4 555144.26 2219216.14

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

5 555123.82 2219232.42

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

6 555122.60 2219245.70

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

7 555121.41 2219259.50

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

8 555114.36 2219272.00

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

9 555114.05 2219281.92

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

10 555114.70 2219295.12

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

11 555110.42 2219309.79

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

12 555110.14 2219310.75

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

13 555109.19 2219313.99

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

14 555105.35 2219312.87

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

15 555106.30 2219309.63

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

16 555106.58 2219308.67

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

17 555110.68 2219294.65

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

18 555110.05 2219281.95

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-
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19 555110.40 2219270.90

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

20 555117.50 2219258.29

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

21 555118.62 2219245.34

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

22 555120.00 2219230.36

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

23 555142.36 2219212.54

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

24 555165.27 2219205.45

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

25 555172.79 2219213.29

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

26 555174.35 2219214.86

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

1 555171.52 2219217.68

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

4.  �4<<5=>64=<5 747>D4E?D545?<F5?L=>= E5F<: �47>?D>6>4-66>4 > 6<?><G 

4><G ?> 44D5EG: �<657>D>4E>4O >5?4EFL, 7.>.7. �>D, 4. �>D<=>4 
(�D4E=>E?>5>4E><= E/E), 4. 59� (�-4-0038�/2022/��/��), =47=4G5=<5: 
�47>?D>6>4 =<7>>7> 446?5=<O, >444EFD>6O= =><5D: 52:20:0700020:760

%6545=<O >5 >ED4==>= 7>=5

7 ?? %4D4>F5D<EF<>< >ED4==>= 

7>=O �?<E4=<5 E4D4>F5D<EF<>

1 2 3

1.
�5EF>?>?>65=<5 >ED4==>= 

7>=O

$>EE<=E>4O $545D4F<O, �<657>D>4E>4O 

>5?., 7. �>D, 4. �>D<=>4 
(�D4E=>E?>5>4E><= E/E), 59�

2. �?>M44L >ED4==>= 7>=O, >6.< 86

%6545=<O > <5EF>?>?>65=<< 7D4=<F >ED4==>= 7>=O
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1. %<EF5<4 >>>D4<=4F �%� 52, 7>=4 2

2. %6545=<O > E4D4>F5D=OE F>G>4E 7D4=<F >ED4==>= 7>=O

�>>D4<=4FO, <�5>7=4G5=<5 
E4D4>F5D=OE 

F>G5> 7D4=<F X Y

�5F>4 >?D545?5=<O 

>>>D4<=4F < ED54=OO 

>644D4F<G5E>4O 

?>7D5L=>EFL ?>?>65=<O 

E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5 
74>D5??5=<O 

F>G><

1 2 3 4 5

1 540154.12 2226798.43

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

2 540137.28 2226795.57

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

3 540132.95 2226794.86

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

4 540133.60 2226790.91

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

5 540137.94 2226791.63

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

6 540154.79 2226794.48

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

1 540154.12 2226798.43

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

5.  �4<<5=>64=<5 747>D4E?D545?<F5?L=>= E5F<: �47>?D>6>4-66>4 > 6<?><G 

4><G ?> 44D5EG: �<657>D>4E>4O >5?4EFL, 7. �>D, E. �4=F4GD>6> ( �4=F4GD>6E><= 

E/E), G?. 1-O �G7>64O, GG. 17� (�-4-0130�/2022/��/��), =47=4G5=<5: �47>?D>6>4 

=<7>>7> 446?5=<O, >444EFD>6O= =><5D: 52:20:0600011:5507

%6545=<O >5 >ED4==>= 7>=5

7 ?? %4D4>F5D<EF<>< >ED4==>= 

7>=O �?<E4=<5 E4D4>F5D<EF<>

1 2 3

1.
�5EF>?>?>65=<5 >ED4==>= 

7>=O
$>EE<=E>4O $545D4F<O, �<657>D>4E>4O 

>5?4EFL, �>D 7., �4=F4GD>6> 
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(�4=F4GD>6E><= E/E) E., 1-O �G7>64O G?., 
GG. 17�

2. �?>M44L >ED4==>= 7>=O, >6.< 46

%6545=<O > <5EF>?>?>65=<< 7D4=<F >ED4==>= 7>=O

1. %<EF5<4 >>>D4<=4F �%� 52, 7>=4 2

2. %6545=<O > E4D4>F5D=OE F>G>4E 7D4=<F >ED4==>= 7>=O

�>>D4<=4FO, <�5>7=4G5=<5 
E4D4>F5D=OE 

F>G5> 7D4=<F X Y

�5F>4 >?D545?5=<O 

>>>D4<=4F < ED54=OO 

>644D4F<G5E>4O 

?>7D5L=>EFL ?>?>65=<O 

E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5 
74>D5??5=<O 

F>G><

1 2 3 4 5

1 547905.64 2218405.88

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

2 547908.89 2218406.45

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

3 547912.99 2218407.33

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

4 547913.94 2218407.53

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

5 547916.96 2218408.03

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

6 547916.31 2218411.98

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

7 547913.20 2218411.46

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

8 547912.15 2218411.24

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

9 547908.13 2218410.38

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

10 547904.95 2218409.83

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-
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1 547905.64 2218405.88

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

6.  �4<<5=>64=<5 747>D4E?D545?<F5?L=>= E5F<: �47>?D>6>4-66>4 > 6<?><G 

4><G ?> 44D5EG: �<657>D>4E>4O >5?4EFL, 7. �>D, G?. �GE>D7E>>7>, 4. 14 (�-4-
1010�/2022/��/��), =47=4G5=<5: �47>?D>6>4 =<7>>7> 446?5=<O, >444EFD>6O= 

=><5D: 52:19:0000000:2289

%6545=<O >5 >ED4==>= 7>=5

7 ?? %4D4>F5D<EF<>< >ED4==>= 

7>=O �?<E4=<5 E4D4>F5D<EF<>

1 2 3

1.
�5EF>?>?>65=<5 >ED4==>= 

7>=O
$>EE<=E>4O $545D4F<O, �<657>D>4E>4O 

>5?., 7. �>D, G?. �GE>D7E>>7>, 4. 14

2. �?>M44L >ED4==>= 7>=O, >6.< 420

%6545=<O > <5EF>?>?>65=<< 7D4=<F >ED4==>= 7>=O

1. %<EF5<4 >>>D4<=4F �%� 52, 7>=4 2

2. %6545=<O > E4D4>F5D=OE F>G>4E 7D4=<F >ED4==>= 7>=O

�>>D4<=4FO, <�5>7=4G5=<5 
E4D4>F5D=OE 

F>G5> 7D4=<F X Y

�5F>4 >?D545?5=<O 

>>>D4<=4F < ED54=OO 

>644D4F<G5E>4O 

?>7D5L=>EFL ?>?>65=<O 

E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5 
74>D5??5=<O 

F>G><

1 2 3 4 5

1 534044.29 2222556.81

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

2 534045.65 2222561.25

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

3 534037.78 2222563.49

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

4 534028.72 2222567.11

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-
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5 534033.52 2222578.45

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

6 534041.74 2222600.02

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

7 534047.87 2222611.36

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

8 534056.44 2222634.60

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

9 534061.53 2222632.83

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

10 534062.85 2222636.60

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

11 534054.04 2222639.67

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

12 534044.21 2222613.00

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

13 534038.10 2222601.70

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

14 534029.82 2222579.98

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

15 534023.44 2222564.92

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

16 534036.52 2222559.69

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

17 534040.63 2222558.53

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

18 534040.45 2222557.95

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

1 534044.29 2222556.81

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

7.  �4<<5=>64=<5 747>D4E?D545?<F5?L=>= E5F<: �47>?D>6>4-66>4 > 6<?><G 

4><G ?> 44D5EG: �<657>D>4E>4O >5?., 7. �>D, 4. �65G><=> ($54L><=E><= E/E), 4. 
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264 (�-4-0114�/2023/��/��), =47=4G5=<5: �47>?D>6>4 66>4 =<7>>7> 446?5=<O, 
>444EFD>6O= =><5D: 52:20:0000000:2827

%6545=<O >5 >ED4==>= 7>=5

7 ?? %4D4>F5D<EF<>< >ED4==>= 

7>=O �?<E4=<5 E4D4>F5D<EF<>

1 2 3

1.
�5EF>?>?>65=<5 >ED4==>= 

7>=O

$>EE<=E>4O $545D4F<O, �<657>D>4E>4O 

>5?4EFL, 7.>.7. �>D, 4. �65G><=> 

($54L><=E><= E/E), 4. 264
2. �?>M44L >ED4==>= 7>=O, >6.< 94

%6545=<O > <5EF>?>?>65=<< 7D4=<F >ED4==>= 7>=O

1. %<EF5<4 >>>D4<=4F �%� 52, 7>=4 2

2. %6545=<O > E4D4>F5D=OE F>G>4E 7D4=<F >ED4==>= 7>=O

�>>D4<=4FO, <�5>7=4G5=<5 
E4D4>F5D=OE 

F>G5> 7D4=<F X Y

�5F>4 >?D545?5=<O 

>>>D4<=4F < ED54=OO 

>644D4F<G5E>4O 

?>7D5L=>EFL ?>?>65=<O 

E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5 
74>D5??5=<O 

F>G><

1 2 3 4 5

1 532441.58 2224135.74

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

2 532454.70 2224155.38

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

3 532451.36 2224157.58

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

4 532438.26 2224137.97

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

1 532441.58 2224135.74

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

8.  �4<<5=>64=<5 747>D4E?D545?<F5?L=>= E5F<: �47>?D>6>4-66>4 > 6<?><G 

4><G ?> 44D5EG: �<657>D>4E>4O >5?4EFL, 7.>.7. �>D, 4. �O>>F<=E>>5 
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(�D4E=>E?>5>4E><= E/E), 4. 22 � (�-4-0080�/2022/��/��), =47=4G5=<5: 
�47>?D>6>4 =<7>>7> 446?5=<O, >444EFD>6O= =><5D: 52:20:0700025:714

%6545=<O >5 >ED4==>= 7>=5

7 ?? %4D4>F5D<EF<>< >ED4==>= 

7>=O �?<E4=<5 E4D4>F5D<EF<>

1 2 3

1.
�5EF>?>?>65=<5 >ED4==>= 

7>=O

$>EE<=E>4O $545D4F<O, �<657>D>4E>4O 

>5?4EFL, 7.>.7. �>D, 4. �O>>F<=E>>5 
(�D4E=>E?>5>4E><= E/E), 4. 22 �

2. �?>M44L >ED4==>= 7>=O, >6.< 34

%6545=<O > <5EF>?>?>65=<< 7D4=<F >ED4==>= 7>=O

1. %<EF5<4 >>>D4<=4F �%� 52, 7>=4 2

2. %6545=<O > E4D4>F5D=OE F>G>4E 7D4=<F >ED4==>= 7>=O

�>>D4<=4FO, <�5>7=4G5=<5 
E4D4>F5D=OE 

F>G5> 7D4=<F X Y

�5F>4 >?D545?5=<O 

>>>D4<=4F < ED54=OO 

>644D4F<G5E>4O 

?>7D5L=>EFL ?>?>65=<O 

E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5 
74>D5??5=<O 

F>G><

1 2 3 4 5

1 539373.33 2230528.83

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

2 539376.04 2230531.78

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

3 539369.72 2230537.61

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

4 539367.00 2230534.67

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

1 539373.33 2230528.83

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

9.  �4<<5=>64=<5 747>D4E?D545?<F5?L=>= E5F<: �47>?D>6>4-66>4 > 6<?><G 

4><G ?> 44D5EG: �<657>D>4E>4O >5?., 7. �>D, 45D56=O �6>=L><=> 
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(�D4E=>E?>5>4E><= E/E), 4. 475 (�-4-0981�/2022/��/��/�), =47=4G5=<5: 
�47>?D>6>4 =<7>>7> 446?5=<O, >444EFD>6O= =><5D: 52:20:1100025:1258

%6545=<O >5 >ED4==>= 7>=5

7 ?? %4D4>F5D<EF<>< >ED4==>= 

7>=O �?<E4=<5 E4D4>F5D<EF<>

1 2 3

1.
�5EF>?>?>65=<5 >ED4==>= 

7>=O

$>EE<=E>4O $545D4F<O, �<657>D>4E>4O 

>5?4EFL, �>D 7., �6>=L><=> 

(�D4E=>E?>5>4E><= E/E) 4., 4. 475
2. �?>M44L >ED4==>= 7>=O, >6.< 71

%6545=<O > <5EF>?>?>65=<< 7D4=<F >ED4==>= 7>=O

1. %<EF5<4 >>>D4<=4F �%� 52, 7>=4 2

2. %6545=<O > E4D4>F5D=OE F>G>4E 7D4=<F >ED4==>= 7>=O

�>>D4<=4FO, <�5>7=4G5=<5 
E4D4>F5D=OE 

F>G5> 7D4=<F X Y

�5F>4 >?D545?5=<O 

>>>D4<=4F < ED54=OO 

>644D4F<G5E>4O 

?>7D5L=>EFL ?>?>65=<O 

E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5 
74>D5??5=<O 

F>G><

1 2 3 4 5

1 537814.99 2219172.90

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

2 537816.91 2219185.69

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

3 537812.96 2219186.29

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

4 537810.75 2219171.58

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

5 537810.73 2219171.45

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

6 537810.29 2219168.78

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

7 537814.24 2219168.12

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-
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8 537814.57 2219170.09

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

9 537815.09 2219172.88

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

1 537814.99 2219172.90

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

10.  �4<<5=>64=<5 747>D4E?D545?<F5?L=>= E5F<: �47>?D>6>4-66>4 > 6<?><G 

4><G ?> 44D5EG: �<657>D>4E>4O >5?., 7. �>D, 4. �65G><=> ($54L><=E><= E/E), 
GG. 48� (�-4-0826�/2022/��/��), =47=4G5=<5: �47>?D>6>4 =<7>>7> 446?5=<O, 
>444EFD>6O= =><5D: 52:20:0000000:2828

%6545=<O >5 >ED4==>= 7>=5

7 ?? %4D4>F5D<EF<>< >ED4==>= 

7>=O �?<E4=<5 E4D4>F5D<EF<>

1 2 3

1.
�5EF>?>?>65=<5 >ED4==>= 

7>=O

$>EE<=E>4O $545D4F<O, �<657>D>4E>4O 

>5?., 7. �>D, 4. �65G><=> ($54L><=E><= 

E/E), GG. 48�
2. �?>M44L >ED4==>= 7>=O, >6.< 300

%6545=<O > <5EF>?>?>65=<< 7D4=<F >ED4==>= 7>=O

1. %<EF5<4 >>>D4<=4F �%� 52, 7>=4 2

2. %6545=<O > E4D4>F5D=OE F>G>4E 7D4=<F >ED4==>= 7>=O

�>>D4<=4FO, <�5>7=4G5=<5 
E4D4>F5D=OE 

F>G5> 7D4=<F X Y

�5F>4 >?D545?5=<O 

>>>D4<=4F < ED54=OO 

>644D4F<G5E>4O 

?>7D5L=>EFL ?>?>65=<O 

E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5 
74>D5??5=<O 

F>G><

1 2 3 4 5

1 532324.97 2224302.25

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

2 532333.16 2224310.53

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-
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3 532310.46 2224333.98

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

4 532286.76 2224353.06

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

5 532280.87 2224348.10

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

6 532283.45 2224345.04

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

7 532286.82 2224347.88

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

8 532307.76 2224331.02

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

9 532327.56 2224310.56

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

10 532322.12 2224305.06

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

1 532324.97 2224302.25

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

11.  �4<<5=>64=<5 747>D4E?D545?<F5?L=>= E5F<: �47>?D>6>4-66>4 > 6<?><G 

4><G ?> 44D5EG: �<657>D>4E>4O >5?4EFL, 7. �>D, 45D56=O �>EF<=> 

($54L><=E><= E/E), 4. 22� (�-4-0553�/2022/��/��), =47=4G5=<5: �47>?D>6>4 

=<7>>7> 446?5=<O, >444EFD>6O= =><5D: 52:20:1400007:770

%6545=<O >5 >ED4==>= 7>=5

7 ?? %4D4>F5D<EF<>< >ED4==>= 

7>=O �?<E4=<5 E4D4>F5D<EF<>

1 2 3

1.
�5EF>?>?>65=<5 >ED4==>= 

7>=O

$>EE<=E>4O $545D4F<O, �<657>D>4E>4O 

>5?4EFL, �>D 7., �>EF<=> ($54L><=E><= 

E/E) 4., 4. 22�
2. �?>M44L >ED4==>= 7>=O, >6.< 302

%6545=<O > <5EF>?>?>65=<< 7D4=<F >ED4==>= 7>=O
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1. %<EF5<4 >>>D4<=4F �%�-52, 7>=4 2

2. %6545=<O > E4D4>F5D=OE F>G>4E 7D4=<F >ED4==>= 7>=O

�>>D4<=4FO, <�5>7=4G5=<5 
E4D4>F5D=OE 

F>G5> 7D4=<F X Y

�5F>4 >?D545?5=<O 

>>>D4<=4F < ED54=OO 

>644D4F<G5E>4O 

?>7D5L=>EFL ?>?>65=<O 

E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5 
74>D5??5=<O 

F>G><

1 2 3 4 5

1 531393.63 2226487.02

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

2 531397.35 2226486.73

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

3 531397.67 2226490.71

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

4 531396.41 2226490.82

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

5 531382.62 2226524.99

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

6 531372.80 2226548.34

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

7 531377.89 2226550.50

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

8 531376.33 2226554.18

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

9 531371.14 2226551.98

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

10 531367.58 2226550.44

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

11 531378.92 2226523.47

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

1 531393.63 2226487.02

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-



17

12.  �4<<5=>64=<5 747>D4E?D545?<F5?L=>= E5F<: �47>?D>6>4 446?5=<5< 4> 

0,005 ��4 >F F>G>< ?D<E>54<=5=<O > D4E?D545?<F5?L=><G 747>?D>6>4G 4> 

>5N5>F4 ?> 44D5EG: �<657>D>4E>4O >5?4EFL, 7. �>D, 4. �6>=L><=> 

(�D4E=>E?>5>4E><= E/E), GG. >44. 52:20:1100025:1209 (�-4-4938�/�-�), 
=47=4G5=<5: �47>?D>6>4 =<7>>7> 446?5=<O, >444EFD>6O= =><5D: 
52:20:1100025:1259

%6545=<O >5 >ED4==>= 7>=5

7 ?? %4D4>F5D<EF<>< >ED4==>= 

7>=O �?<E4=<5 E4D4>F5D<EF<>

1 2 3

1.
�5EF>?>?>65=<5 >ED4==>= 

7>=O

$>EE<=E>4O $545D4F<O, �<657>D>4E>4O 

>5?4EFL, �>D 7., �6>=L><=> 

(�D4E=>E?>5>4E><= E/E) 4., GG. >44. 
52:20:1100025:1209

2. �?>M44L >ED4==>= 7>=O, >6.< 50

%6545=<O > <5EF>?>?>65=<< 7D4=<F >ED4==>= 7>=O

1. %<EF5<4 >>>D4<=4F �%�-52, 7>=4 2

2. %6545=<O > E4D4>F5D=OE F>G>4E 7D4=<F >ED4==>= 7>=O

�>>D4<=4FO, <�5>7=4G5=<5 
E4D4>F5D=OE 

F>G5> 7D4=<F X Y

�5F>4 >?D545?5=<O 

>>>D4<=4F < ED54=OO 

>644D4F<G5E>4O 

?>7D5L=>EFL ?>?>65=<O 

E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5 
74>D5??5=<O 

F>G><

1 2 3 4 5

1 537924.08 2219304.15

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

2 537927.44 2219303.76

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

3 537930.44 2219303.40

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

4 537931.91 2219313.24

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-
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5 537927.96 2219313.83

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

6 537927.06 2219307.84

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

7 537924.54 2219308.13

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

1 537924.08 2219304.15

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

13.  �4<<5=>64=<5 747>D4E?D545?<F5?L=>= E5F<: �47>?D>6>4-66>4 > 6<?><G 

4><G ?> 44D5EG: �<657>D>4E>4O >5?4EFL, 7. �>D, 4. �G56> (�4=F4GD>6E><= E/E), 
GG. 41� (�-4-0806�/2022/��/��), =47=4G5=<5: �47>?D>6>4 =<7>>7> 446?5=<O, 
>444EFD>6O= =><5D: 52:20:0600029:1964

%6545=<O >5 >ED4==>= 7>=5

7 ?? %4D4>F5D<EF<>< >ED4==>= 

7>=O �?<E4=<5 E4D4>F5D<EF<>

1 2 3

1.
�5EF>?>?>65=<5 >ED4==>= 

7>=O

$>EE<=E>4O $545D4F<O, �<657>D>4E>4O 

>5?4EFL, 7.>.7. �>D, 4. �G56> 

(�4=F4GD>6E><= E/E), GG. 41�
2. �?>M44L >ED4==>= 7>=O, >6.< 86

%6545=<O > <5EF>?>?>65=<< 7D4=<F >ED4==>= 7>=O

1. %<EF5<4 >>>D4<=4F �%� 52, 7>=4 2

2. %6545=<O > E4D4>F5D=OE F>G>4E 7D4=<F >ED4==>= 7>=O

�>>D4<=4FO, <�5>7=4G5=<5 
E4D4>F5D=OE 

F>G5> 7D4=<F X Y

�5F>4 >?D545?5=<O 

>>>D4<=4F < ED54=OO 

>644D4F<G5E>4O 

?>7D5L=>EFL ?>?>65=<O 

E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5 
74>D5??5=<O 

F>G><

1 2 3 4 5

1 547662.03 2221192.47

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-
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2 547664.59 2221195.54

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

3 547663.78 2221196.22

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

4 547666.48 2221199.23

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

5 547657.57 2221207.67

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

6 547657.13 2221210.23

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

7 547653.19 2221209.56

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

8 547653.85 2221205.69

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

9 547660.90 2221199.00

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

10 547658.05 2221195.81

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

1 547662.03 2221192.47

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

14.  �4<<5=>64=<5 747>D4E?D545?<F5?L=>= E5F<: �47>?D>6>4-66>4 > 6<?><G 

4><G ?> 44D5EG: �<657>D>4E>4O >5?., 7. �>D, 4. �>?LF>6>, 4.14� (�-4-
0089�/2023/��/��), =47=4G5=<5: �47>?D>6>4 =<7>>7> 446?5=<O, >444EFD>6O= 

=><5D: 52:20:0700019:695

%6545=<O >5 >ED4==>= 7>=5

7 ?? %4D4>F5D<EF<>< >ED4==>= 

7>=O �?<E4=<5 E4D4>F5D<EF<>

1 2 3

1.
�5EF>?>?>65=<5 >ED4==>= 

7>=O
$>EE<=E>4O $545D4F<O, �<657>D>4E>4O 

>5?4EFL, �>D 7., �>?LF>6> 4., 4.14�
2. �?>M44L >ED4==>= 7>=O, >6.< 203
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%6545=<O > <5EF>?>?>65=<< 7D4=<F >ED4==>= 7>=O

1. %<EF5<4 >>>D4<=4F �%� 52, 7>=4 2

2. %6545=<O > E4D4>F5D=OE F>G>4E 7D4=<F >ED4==>= 7>=O

�>>D4<=4FO, <�5>7=4G5=<5 
E4D4>F5D=OE 

F>G5> 7D4=<F X Y

�5F>4 >?D545?5=<O 

>>>D4<=4F < ED54=OO 

>644D4F<G5E>4O 

?>7D5L=>EFL ?>?>65=<O 

E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5 
74>D5??5=<O 

F>G><

1 2 3 4 5

1 541200.28 2228129.77

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

2 541203.98 2228128.24

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

3 541204.99 2228130.71

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

4 541217.65 2228161.37

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

5 541220.34 2228171.57

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

6 541221.10 2228174.47

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

7 541217.23 2228175.49

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

8 541216.47 2228172.59

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

9 541213.85 2228162.65

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

10 541202.04 2228134.05

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

11 541200.48 2228134.66

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

12 541199.03 2228130.93

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-
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13 541200.52 2228130.35

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

1 541200.28 2228129.77

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

15.  �4<<5=>64=<5 747>D4E?D545?<F5?L=>= E5F<: %5FL 747>D4E?D545?5=<O 

=<7>>7> 446?5=<O > 6<?O< 4><4< E565D=55, 4. �O>>6>, �� �>D, �<657>D>4E>>= 

>5?4EF< (152-22-102-011395), =47=4G5=<5: �47>?D>6>4 =<7>>7> 446?5=<O, 
>444EFD>6O= =><5D: 52:20:1100072:3479

%6545=<O >5 >ED4==>= 7>=5

7 ?? %4D4>F5D<EF<>< >ED4==>= 

7>=O �?<E4=<5 E4D4>F5D<EF<>

1 2 3

1.
�5EF>?>?>65=<5 >ED4==>= 

7>=O
$>EE<=E>4O $545D4F<O, �<657>D>4E>4O 

>5?4EFL, 7. �>D, 4. �O>>6>
2. �?>M44L >ED4==>= 7>=O, >6.< 261

%6545=<O > <5EF>?>?>65=<< 7D4=<F >ED4==>= 7>=O

1. %<EF5<4 >>>D4<=4F �%� 52, 7>=4 2

2. %6545=<O > E4D4>F5D=OE F>G>4E 7D4=<F >ED4==>= 7>=O

�>>D4<=4FO, <�5>7=4G5=<5 
E4D4>F5D=OE 

F>G5> 7D4=<F X Y

�5F>4 >?D545?5=<O 

>>>D4<=4F < ED54=OO 

>644D4F<G5E>4O 

?>7D5L=>EFL ?>?>65=<O 

E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5 
74>D5??5=<O 

F>G><

1 2 3 4 5

1 539278.29 2218863.23

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

2 539274.29 2218863.25

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

3 539274.28 2218861.26

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-
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4 539270.73 2218861.28

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

5 539270.70 2218857.28

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

6 539274.27 2218857.26

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

7 539274.22 2218801.52

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

8 539278.22 2218801.52

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

9 539278.27 2218859.24

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

1 539278.29 2218863.23

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

16.  �4<<5=>64=<5 747>D4E?D545?<F5?L=>= E5F<: �47>?D>6>4 446?5=<5< 4> 

0,005 ��4 >F F>G>< ?D<E>54<=5=<O > D4E?D545?<F5?L=><G 747>?D>6>4G 4> 

>5N5>F4 ?> 44D5EG: �<657>D>4E>4O >5?., 7. �>D 4. �G75<<=> ($54L><=E><= E/E), 
GG4EF>> 7 � >44. =><5D 52:20:1400016:656 (�-4-4736�/�-�), =47=4G5=<5: 
�47>?D>6>4 =<7>>7> 446?5=<O, >444EFD>6O= =><5D: 52:20:1400016:682

%6545=<O >5 >ED4==>= 7>=5

7 ?? %4D4>F5D<EF<>< >ED4==>= 

7>=O �?<E4=<5 E4D4>F5D<EF<>

1 2 3

1.
�5EF>?>?>65=<5 >ED4==>= 

7>=O

$>EE<=E>4O $545D4F<O, �<657>D>4E>4O 

>5?., 7. �>D 4. �G75<<=> ($54L><=E><= 

E/E), GG4EF>> 7 � >44. =><5D 

52:20:1400016:656

2. �?>M44L >ED4==>= 7>=O, >6.< 30

%6545=<O > <5EF>?>?>65=<< 7D4=<F >ED4==>= 7>=O

1. %<EF5<4 >>>D4<=4F �%�-52, 7>=4 2

2. %6545=<O > E4D4>F5D=OE F>G>4E 7D4=<F >ED4==>= 7>=O
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�>>D4<=4FO, <�5>7=4G5=<5 
E4D4>F5D=OE 

F>G5> 7D4=<F X Y

�5F>4 >?D545?5=<O 

>>>D4<=4F < ED54=OO 

>644D4F<G5E>4O 

?>7D5L=>EFL ?>?>65=<O 

E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5 
74>D5??5=<O 

F>G><

1 2 3 4 5

1 528222.83 2228173.38

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

2 528226.70 2228172.37

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

3 528228.20 2228178.11

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

4 528226.06 2228178.82

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

5 528222.95 2228179.75

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

6 528221.80 2228175.92

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

7 528223.37 2228175.45

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

1 528222.83 2228173.38

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

17.  �4<<5=>64=<5 747>D4E?D545?<F5?L=>= E5F<: �47>?D>6>4- 66>4 > 6<?><G 

4><G ?> 44D5EG: �<657>D>4E>4O >5?4EFL, 7. �>D, 4. �65G><=> ($54L><=E><= E/E), 
4. 54� (�-4-0093�/2023/��/��), =47=4G5=<5: �47>?D>6>4 =<7>>7> 446?5=<O, 
>444EFD>6O= =><5D: 52:20:1400005:2231

%6545=<O >5 >ED4==>= 7>=5

7 ?? %4D4>F5D<EF<>< >ED4==>= 

7>=O �?<E4=<5 E4D4>F5D<EF<>

1 2 3

1.
�5EF>?>?>65=<5 >ED4==>= 

7>=O

$>EE<=E>4O $545D4F<O, �<657>D>4E>4O 

>5?4EFL, 7.>.7. �>D, 4. �65G><=> 

($54L><=E><= E/E), 4.54�
2. �?>M44L >ED4==>= 7>=O, >6.< 50
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%6545=<O > <5EF>?>?>65=<< 7D4=<F >ED4==>= 7>=O

1. %<EF5<4 >>>D4<=4F �%� 52, 7>=4 2

2. %6545=<O > E4D4>F5D=OE F>G>4E 7D4=<F >ED4==>= 7>=O

�>>D4<=4FO, <�5>7=4G5=<5 
E4D4>F5D=OE 

F>G5> 7D4=<F X Y

�5F>4 >?D545?5=<O 

>>>D4<=4F < ED54=OO 

>644D4F<G5E>4O 

?>7D5L=>EFL ?>?>65=<O 

E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5 
74>D5??5=<O 

F>G><

1 2 3 4 5

1 532102.37 2224347.38

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

2 532100.11 2224350.68

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

3 532089.86 2224343.66

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

4 532092.12 2224340.36

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

1 532102.37 2224347.38

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

18.  �4<<5=>64=<5 747>D4E?D545?<F5?L=>= E5F<: �47>?D>6>4 446?5=<5< 4> 

0.005 ��4 >F F>G>< ?D<E>54<=5=<O > D4E?D545?<F5?L=><G 747>?D>6>4G 4> 

>5N5>F4 ?> 44D5EG: �<657>D>4E>4O >5?., 7. �>D, 4. �65G><=> ($54L><=E><= E/E), 
4. 2� (�-4-5049�/�-�), =47=4G5=<5: �47>?D>6>4 =<7>>7> 446?5=<O, 
>444EFD>6O= =><5D: 52:20:0000000:2829

%6545=<O >5 >ED4==>= 7>=5

7 ?? %4D4>F5D<EF<>< >ED4==>= 

7>=O �?<E4=<5 E4D4>F5D<EF<>

1 2 3

1.
�5EF>?>?>65=<5 >ED4==>= 

7>=O

$>EE<=E>4O $545D4F<O, �<657>D>4E>4O 

>5?., 7. �>D, 4. �65G><=> ($54L><=E><= 

E/E), 4. 2�
2. �?>M44L >ED4==>= 7>=O, >6.< 250
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%6545=<O > <5EF>?>?>65=<< 7D4=<F >ED4==>= 7>=O

1. %<EF5<4 >>>D4<=4F �%� 52, 7>=4 2

2. %6545=<O > E4D4>F5D=OE F>G>4E 7D4=<F >ED4==>= 7>=O

�>>D4<=4FO, <�5>7=4G5=<5 
E4D4>F5D=OE 

F>G5> 7D4=<F X Y

�5F>4 >?D545?5=<O 

>>>D4<=4F < ED54=OO 

>644D4F<G5E>4O 

?>7D5L=>EFL ?>?>65=<O 

E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5 
74>D5??5=<O 

F>G><

1 2 3 4 5

1 532012.83 2224702.41

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

2 532015.90 2224698.48

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

3 531983.33 2224671.92

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

4 531980.27 2224664.39

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

5 531978.55 2224660.14

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

6 531982.26 2224658.64

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

7 531983.98 2224662.89

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

8 531986.65 2224669.47

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

9 532021.46 2224697.86

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

10 532019.13 2224700.84

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

11 532015.98 2224704.87

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

1 532012.83 2224702.41

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-
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19.  �4<<5=>64=<5 747>D4E?D545?<F5?L=>= E5F<: �47>?D>6>4-66>4 > 6<?><G 

4><G ?> 44D5EG: �<657>D>4E>4O >5?4EFL, 7. �>D, E. �4=F4GD>6> (�4=F4GD>6E><= 

E/E), G?. �4D5G=4O, 4. 52 ( �-4-0655�/2022/��/��), =47=4G5=<5: �47>?D>6>4 

=<7>>7> 446?5=<O, >444EFD>6O= =><5D: 52:20:0600011:5509

%6545=<O >5 >ED4==>= 7>=5

7 ?? %4D4>F5D<EF<>< >ED4==>= 

7>=O �?<E4=<5 E4D4>F5D<EF<>

1 2 3

1.
�5EF>?>?>65=<5 >ED4==>= 

7>=O

$>EE<=E>4O $545D4F<O, �<657>D>4E>4O 

>5?4EFL, 7. �>D, E. �4=F4GD>6> 

(�4=F4GD>6E><= E/E), G?. �4D5G=4O, 4. 52

2. �?>M44L >ED4==>= 7>=O, >6.< 335

%6545=<O > <5EF>?>?>65=<< 7D4=<F >ED4==>= 7>=O

1. %<EF5<4 >>>D4<=4F �%� 52, 7>=4 2

2. %6545=<O > E4D4>F5D=OE F>G>4E 7D4=<F >ED4==>= 7>=O

�>>D4<=4FO, <�5>7=4G5=<5 
E4D4>F5D=OE 

F>G5> 7D4=<F X Y

�5F>4 >?D545?5=<O 

>>>D4<=4F < ED54=OO 

>644D4F<G5E>4O 

?>7D5L=>EFL ?>?>65=<O 

E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5 
74>D5??5=<O 

F>G><

1 2 3 4 5

1 548288.89 2219320.80

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

2 548287.16 2219318.37

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

3 548277.79 2219305.17

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

4 548269.22 2219291.83

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

5 548263.10 2219278.63

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-
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6 548260.60 2219267.95

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

7 548259.99 2219266.52

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

8 548256.08 2219257.36

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

9 548258.38 2219250.75

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

10 548258.50 2219246.00

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

11 548260.91 2219246.06

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

12 548261.38 2219246.09

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

13 548264.23 2219246.09

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

14 548260.36 2219257.22

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

15 548263.67 2219264.94

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

16 548264.42 2219266.69

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

17 548266.90 2219277.31

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

18 548272.74 2219289.89

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

19 548281.11 2219302.93

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

20 548290.42 2219316.05

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

21 548292.15 2219318.48

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

1 548288.89 2219320.80

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-
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20.  �4<<5=>64=<5 747>D4E?D545?<F5?L=>= E5F<: �47>?D>6>4-66>4 > 6<?><G 

4><G ?> 44D5EG: �<657>D>4E>4O >5?., 7. �>D, E. �64=>6E>>5 (/<=>6E><= E/E), 
GG. 160 (�-4-0720�/2022/��/��), =47=4G5=<5: �47>?D>6>4 =<7>>7> 446?5=<O, 
>444EFD>6O= =><5D: 52:20:2200004:1532

%6545=<O >5 >ED4==>= 7>=5

7 ?? %4D4>F5D<EF<>< >ED4==>= 

7>=O �?<E4=<5 E4D4>F5D<EF<>

1 2 3

1.
�5EF>?>?>65=<5 >ED4==>= 

7>=O

$>EE<=E>4O $545D4F<O, �<657>D>4E>4O 

>5?4EFL, �>D 7., E. �64=>6E>>5 
(/<=>6E><= E/E), GG. 160

2. �?>M44L >ED4==>= 7>=O, >6.< 34

%6545=<O > <5EF>?>?>65=<< 7D4=<F >ED4==>= 7>=O

1. %<EF5<4 >>>D4<=4F �%� 52, 7>=4 2

2. %6545=<O > E4D4>F5D=OE F>G>4E 7D4=<F >ED4==>= 7>=O

�>>D4<=4FO, <�5>7=4G5=<5 
E4D4>F5D=OE 

F>G5> 7D4=<F X Y

�5F>4 >?D545?5=<O 

>>>D4<=4F < ED54=OO 

>644D4F<G5E>4O 

?>7D5L=>EFL ?>?>65=<O 

E4D4>F5D=>= F>G>< (�t), <

�?<E4=<5 
74>D5??5=<O 

F>G><

1 2 3 4 5

1 510260.76 2269619.78

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

2 510259.17 2269620.18

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

3 510259.46 2269621.29

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

4 510255.59 2269622.30

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

5 510253.98 2269616.16

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-
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6 510257.06 2269615.32

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

7 510259.52 2269614.72

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

1 510260.76 2269619.78

�5F>4 E?GF=<>>6OE 

75>457<G5E><E <7<5D5=<= 

(>?D545?5=<=), 0.10

-

______________________


